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No | MWERR s B o) st | s | Ak | Amens x| | e | e | e
1] dbisE 159 0 25 184| 864| 14515 @dtimE-FEi 512 68 580 88.3
2 | FHE 55 0 3 58| 9438 4,959 QE=RRIEH 1,039 152 1,191 87.2
3| BEFE 62 0 2 64| 969 5,910 ©F 5 1d 5 499 64 563 88.6
4| BRE 77 0 17 94| 819 7,691 @sg 486 94 580 83.8
5| MEE 50 0 3 53 943 4,894 GhE-ME 490 32 522 93.9
6 [ LLFZE 42 0 2 44 955 4,011 ®AnM 540 44 584 92.5
7| BRER 67 0 16 83| 807 6,377 & &t 3,566 454 4,020 88.7
8 | ZiFE 105 0 23 128/ 820 9,709
9 | KRR o7 0 6 63| 905 5,182 3 IF=BEE-RE FHKR
10| #EE 74 0 7 81 914 6,126 HEIK MRS | RO [ AFFEE M| THEEHK
11| BEE 136 0 27 163| 834| 14382 EEEA 2,666 74.8| 252,599 94.7
12 FER 131 0 24 155  845| 13,112 #H2EULEAN 544 15.3] 50,944 93.6
13| HREB 178 0 22 200 89.0f 19,660 BER 28 0.8 2,223 79.4
14 (#HEINE 160 0 24 184| 870] 17,642 BEEA 60 1.7 5,882 98.0
15| AR 87 0 7 94 926 9,059 #HEEAN 40 1.1 3,594 89.9
16| EWWE 42 0 4 46 913 4,052 —EEHEE 41 1.2 3,425 83.5
171 BIIE 36 0 6 42| 857 3,613 BT 4t 115 32 8,297 72.1
18| BHE 31 0 2 33 93.9 3,001 Hhig B SR R M 26 0.7 2,472 95.1
19| WRE 30 0 1 31 96.8 2,790 AARFK+F4t 6 0.2 475 79.2
20| REE 81 0 11 92 880 7,190 E4E 23 0.6 2,040 88.7
21| KRB 70 0 4 74| 946 6,216 BEARRES 4 0.1 416 104.0
22| BRHE 101 0 18 119 849| 11,081 HiFHEE 3 0.1 300 100.0
23| EHMER 155 0 24 179| 86.6] 16,161 ZDith 10 0.3 991 99.1
24| ZER 64 0 70| 914 6,332 & 3,566 100.0| 333,658 93.6
25| #HEER 31 0 34 912 2,565
26 | WERAT 59 0 67| 88.1 6,497 4 FLEMR-BBRERR
27| KBRAF 178 0 46 224 795 17219 HEME MERA | #BRILEC) | AFTE B | THEE
28| RER 135 0 26 161 839] 12,755 EL:ha 1,838 515 180,473 98.2
29| ZRE 52 0 1 53| 98.1 4,952 R HE 1,027 288 91,482 89.1
30 (FOFRILIE 31 0 10 M 75.6 2,861 -Gk 482 135 41,302 85.7
31| BEIE 36 0 4 40 900 2,819 B AU EER R 119 33 11,198 94.1
32| BIRE 34 0 1 35 971 2,520 97 - R OFE% 27 0.8 2,543 94.2
33| MWE 76 0 5 81 93.8 6,293 R LK 13 0.4 1,002 77.1
4| LER 96 0 8 104] 923 7,770 T DGR 60 1.7 5,658 94.3
3B AR 57 0 7 64| 89.1 4,193 & &t 3,566 100.0| 333,658 936
36| EEE 51 0 1 52| 981 4,090
37| BNE 50 0 0 50[ 100.0 3,822 5 T2 B MR- AFTE ISR
38| BRE 63 0 2 65| 969 5,051 J\Pﬁiéfmﬁ MRS | RO [ AFTEE Y| THEERK
9| BHIR 27 0 4 31| 871 1,873 49FRELT 106 3.0 3,432 324
40 | &R 148 0 18 166| 89.2] 13,501 50~99FK 1,482 416| 111,980 75.6
M| EER 33 0 5 38[ 8638 2,625 100~ 149K 1,759 49.3| 182,663 1038
2| RIFE 55 0 5 60[ 917 4,661 150~199FK 200 56 31,132 155.7
43| EERE 88 0 4 92| 957 6,403 200FR L E 19 05 4,451 2343
4| KRR 57 0 6 63| 905 4,274 & &t 3,566 100.0[ 333,658 93.6
45 HIFE 43 0 0 43[ 1000 3,223
46 | EREE 74 0 5 79| 937 6,120
47| HiEE 42 0 1 43| 977 3,906

& &t 3,566 0 454| 4020 887 333,658

X HBRMAE = FRERE/ (EXEMRE+RMARES ) X 100




